BRO ERAKER. BERDERE

KRERTAEERS (F - Hitk)

B RROERRMEAR
vy | RORMOERRRA | ERERAL
(R5~R9) - #iik L) 3EE
EAEAR 773,920 11.6%
EEFEAR 1,085,981 58.4%
H 1,859,901
B AR 159ENE
WEROERAREA | EAFIRAL N
% (R5~R9) - Btk | swadla | oo
EAEAR 905,486 41.6% 17.0%
EEFEAR 1,270,598 58.4% 17.0%
H 2,176,084

W BX: EXERABNEISZEEITLIFS(42.0%)

WEEDERRIRA | EARIRAL ~
= (R5~RO) - ik | awadla | CoE+
EARERAR 914,774 42.0% 18.2%
RE=ERR 1,261,310 58.0% 16.1%

H 2,176,084

B CER:EFERBNESZESIETLIFSH(43.0%)

HEEOERREA | ERRIEALL ~
% (R5~R9) - Btk | swadla | oo
EAEAR 935,669 43.0% 20.9%
EEFEAR 1,240,415 57.0% 14.2%

H 2,176,084

B DE:EFERHNEIGZSIELITS(43.4%)

WEEDOERREA | ERRIEALL ~
% (R5~R9) - Btk | swafla | oo
EAEAR 944,903 43.4% 22.1%
EEFEAR 1,231,181 56.6% 13.4%
&t 2,176,084
XE 2 EBEES
XE 3 MEBES

10m 20m 30m 50m 150m 1500m
&i8% 1,028 2,058 3,088 5,148 16,348 | 182,198
W 1B BcUEROERE
KERTAEERE (A - Hiik)
10m 20m 30m 50m 150m 1500m
G188 1,203 2,413 3,623 6,043 19,193 | 213,393
b IEL] +175 +355 +535 +895 +2,845 | +31,195
¥EhnER 17.0% 17.2% 17.3% 17.4% 17.4% 17.1%
W 1B BcUEROERE
KEFITFXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
G188 1,215 2,415 3,615 6,015 19,015 | 211,015
EhnEE +187 +357 +527 +867 +2,667 | +28,817
¥EhnER 18.2% 17.3% 17.1% 16.8% 16.3% 15.8%
W 1B BcUEROERE
KERITXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
&i8% 1,243 2,423 3,603 5,963 18,763 | 208,063
b IEL] +215 +365 +515 +815 +2,415 | +25,865
HEhnER 20.9% 17.7% 16.7% 15.8% 14.8% 14.2%
W 1B BcUEROERE
KREFITFXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
&i8% 1,255 2,425 3,595 5,935 18,635 | 206,585
EhnEE +227 +367 +507 +787 +2,287 | +24,387
¥EhnER 22.1% 17.8% 16.4% 15.3% 14.0% 13.4%
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B 2O EcERDOERROEE

KEFITFXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
==k L] 1,377 2,767 4,157 6,937 22,037 | 244,587
EhnEE +174 +354 +534 +894 +2,844 | +31,194
¥EhnER 14.5% 14.7% 14.7% 14.8% 14.8% 14.6%
B 2 B OFERBORE
KREFITFXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
G188 1,391 2,761 4,131 6,871 21,721 | 241,221
¥hnga +176 +346 +516 +856 +2,706 | +30,206
¥EhNER 14.5% 14.3% 14.3% 14.2% 14.2% 14.3%
B 2 B OFERBORE
KEFITXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
&i8% 1,423 2,773 4,123 6,823 21,473 | 238,273
b IEL] +180 +350 +520 +860 +2,710 | +30,210
HEhnER 14.5% 14.4% 14.4% 14.4% 14.4% 14.5%
B 2 B OFERBORE
KEFITFXKEERR (M - Hik)
10m 20m 30m 50m 150m 1500m
==k L] 1,437 2,777 4,117 6,797 21,347 | 236,797
¥hnga +182 +352 +522 +862 +2,712 | +30,212
HEhnER 14.5% 14.5% 14.5% 14.5% 14.6% 14.6%




BROQ EXERY - KEEAR O

W RROERFRR AR i RITHR
%Tf;ﬂ ~10m? 1,028 M
11~100m?3 103 A
EEERH
(11:57,: gy |101~1000m’| 121
1,000m3~ 126 M
B AR I9FNE [mmmmmmmmsmmsmsesoeoseooeooooooooo (5]
W1 EBcEROERRMAR . M2EHERDOERPFRDER
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BEAEARRER 17.0% HAEER KE ERRHER (Hitk) : AR KE ERRHER (Hitk)
RBERRSESR 17.0% LT WER : 1EERER 2 @R
= > 0% = H =
gffgﬁ)“ ~10m® | 1,028 [1,203 [ (+175M, 17.0% l gffgﬁ)“ ~10m® | 1,203 |1,377 A (+174M, 14.5% )
[}
[}
BRI 11~100m® | 103F | 121 @  (+18M, 17.5% : N l1~100m® | 1217 | 139 @ (+189 14.9% )
(1:&”‘— v) 101~1,000m*| 12173 | 142 A  (+21f, 17.4% i (1;?57‘— 0) 101~1,000m®| 14273 | 163 A  (+21M, 14.8% )
) 1,000m*~ 126 | 147 A  (+21M, 16.7% ! B 1,000m3~ 147/M | 168 A (+21M, 14.3% )
[}
[}
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W1 BcEROERRHAR i W2 BcEEDERMMARDEER
EAXfERRSER 18.2% A ERE KE fERARER (Hik) ' N . ERRER BiR)
ERERNEEE | 16.1% AT BER i LEEHES 2 IEEER
= & 17 ~ ™
gff;ﬁ)“ ~10m? 1,028 M {1,215 A (+187M, 18.2% i gff;ﬁ)ﬂ ~10m? 1,215/ (1,391 A (+176M, 14.5% )
[}
meu | 11~100m® | 103 | 120 @  (+17M, 16.5% ey | 11~100m® | 120M | 137 @ (+17M, 14.2% )
(ijfi 101~1,000m®| 1211 | 140 @ (+19F, 15.7% i (T:;Efi 101~1,000m3| 140F | 160 M  (+20, 14.3% )
) 1,000m*~ | 126/ | 146 @ (+20M, 15.9% : ) 1,000m’~ | 1467 | 167 @  (+21/, 14.4% )
[}
[}
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W1 EBcEROERRMAR ' M2EHERDOERPARDER
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BEAFEAR%ER 20.9% HAERER KE ERRHER (Hitk) [ —— KE ERRHER (Hitk)
REEANBEE | 14.2% Lies AR : 1 EE 2 EERES
==} L/0 4 [} oy
gffﬁ)ﬂ ~10m*® | 1,028 [1,243 [ (+215M, 20.9% ) gff}?)ﬂ ~10m® | 1,243 | 1,423 A (+180M, 14.5% )
[}
B—— 11~100m? 103/ | 118 M (+15M, 14.6% E S 11~100m? 118/ | 135 @ (+17M, 14.4% )
(11:357- v) 101~1,000m3| 1217 | 138 @  (+17M, 14.0% : (‘1:57_ D) 101~1,000m3| 138F | 158 @  (+20f, 14.5% )
i 1000m*~ | 1267 | 144 @ (+18F, 143%) | 1 i 1,000m*~ | 1447 | 165 @ (+21M, 14.6% )
[}
[}
B DX EAERROEAZESIE LIF5(43.4%) i
W1 EBEROERRMAR i W2 HcEEDERMMARDEER
BEAEAR%ER 22.1% HAERR KE ERRHER (Hitk) " - KE ERRHER (Hitk)
P —— RiTHR MESE " 1ERX%ES 2 EEXER
EEERARNER 13.4% e Ar—m
15 8) ~10m? 1,028 M [ 1,255 M (+227M, 22.1% : 15 8) ~10m? 1,255 ™ [ 1,437 A (+182M, 14.5% )
[}
e e et 11~100m?3 103/ | 117 @ (+14M, 13.6% B 11~100m?3 1178 | 134 @ (+17M, 14.5% )
(ijfi 101~1,000m3| 1217 | 137 @  (+16M, 13.2% i (T:;Efi 101~1,000m3| 137F | 157 @  (+20/, 14.6% )
) 1,000m’~ | 126/ | 143 @ (+17M, 135% : ) 1,000m’~ | 14373 | 164 @ (+21F, 147% )
[}
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